  Limiting Reactants and Theoretical Yield



 1)  2 Al + 3 S  →  Al2S3
a. What is the limiting reactant if 3 moles of Al react with 3 moles of S? Which reactant is in excess? 

b. How many grams (theoretical yield) of aluminum sulfide can form?
2)   2NaBr +  2H2SO4 + MnO2 → Br2 + MnSO4 + 2 H2O + Na2SO4
a. What is the limiting reactant when 2.10g of NaBr and 9.42 g of H2SO4 react? Which reactant is in excess?
b. What is the theoretical yield of bromine could be produced ?
3) a. If  4.44 grams of CaO are mixed with 7.77 grams of water, how many grams(theoretical yield)  of calcium hydroxide form?  ( You will  need to write the balanced equation first; HINT:  synthesis reaction)  then  (HINT, HINT:  Determine which reactant is the limiting) 
b..  How much of the excess reactant remains after reaction is complete?
